Spare part list
DIA 52 W diamond core drill

DUSS

Description Order-No. Quantity Description Order-No. Quantity
Side handle DIA52W-1 1 Washer DIA52W-59 2
Clamping collar with jaw DIA52W-2 1 Layshaft gear DIA52W-60 1
Nut M12 DIA52W-3 1 Pinion DIA52W-61 1
O-ring seal 28x3,5 DIA52W-4 1 Ball bearing DIA52W-62 1
Adapter DIA52W-5 1 Lens head screw 3x10 DIA52W-66 4
O-ring seal 7x2,5 DIA52W-6 2 Gasket DIA52W-68 1
Water hose DIAS2W-7 1 Copper washer M5 DIA52W-69 7
Cheese head screw M6x20 DIA52W-8 4 Cheese head screw M5x20 DIA52W-70 6
Copper washer M6 DIA52W-9 4 Countersunk head screw M4x10 DIAS2W-72 1
Front cover DIA52W-10 1 Damper motor housing DIA52W-75 2
Gasket DIA52W-11 1 Spring DIAS2W-77 1
Sealing ring DIA52W-12 1 Potentiometer DIA52W-78 1
Sealing ring DIA52W-12a 1 Choke coll DIA52W-80 1
Roller bearing DIA52W-13 1 Cord clamp DIA52W-84 1
Washer DIA52W-14 3 Lens head screw 4x14 DIA52W-85 4
Needle thrust bearing DIA52W-15 1 Lens head screw 4x20 DIA52W-86 2
Clutch spring DIA52W-16 1 Lustre terminal DIA52W-88 1
Bevel gear DIA52W-17 1 Lens head screw M3,5x4 DIA52W-89 1
Tool bit driver DIA52W-18 1 Reducer 3/4" DIA52W-92 1
Roller 4x11,8 DIA52W-19 14 Hose coupling 3/4" DIA52W-93 1
Roller 4x19,8 DIA52W-20 10 Plastic tube DIA52W-94 1
Ball bearing DIA52W-21 1 PVC fabric braided hose DIA52W-95 1
Space hull DIA52W-22 1 Hose clamp DIA52W-96 2
Tube DIA52W-23 1 Protective tube DIA52W-97 1
Connecting fitting DIA52W-27 1 Cord, plug and PRCD DIA52W-98k 1
Cylinder housing DIA52W-28 1 Cord for PRCD DIA52W-98a 0
Metering cone, assembled DIA52W-29 1 PRCD circuit breaker DIA52W-98b 0
O-ring seal10x3,5 DIA52W-30 1 Cord, plug without PRCD DIA52W-98c 0
Screw joint DIA52W-31 1 Cord sleeve dia. 10mm DIA52W-99 1
Case flange DIA52W-32 1 Ball bearing DIA52W-300 1
Sealing ring DIA52W-33 1 Motor housing DIA52W-301 1
Hexagon nut M16x1,5 DIA52W-34 1 Ventilation insert, right DIA52W-302 1
Cheese head screw M5x8 DIA52W-35 1 Ventilation insert, left DIA52W-303 1
V-ring seal DIA52W-36 1 Ball valve, assembled DIA52W-304k 1
O-ring seal 26x2 DIA52W-37 1 Ball valve lever, assembled DIA52W-305k 0
Plain washer DIA52W-38 1 Retaining ring DIA52W-306 1
Ball bearing DIA52W-39 1 Washer M7 DIA52W-307 1
Retaining ring DIA52W-40 1 Fixing bracket DIA52W-308 1
Washer DIA52W-41 1 Insulating housing DIA52W-309 1
Ball bearing DIA52W-43 1 Field, 230V DIA52W-310 1
Rubber sleeve DIA52W-44 1 Armature, 230V DIA52W-311 1
Grooved pin DIA52W-47 4 Insulating sleeve DIA52W-312 1
Lens head screw 4x48 DIA52W-48 2 DIA52W nameplate DIA52W-313 1
Motor cover DIA52W-51 1 DUSS DIA52W sticker DIA52W-314 2
Lens head screw M4x20 DIA52W-52 4 Brush holder DIA52W-315 2
Bevel gear pinion DIA52W-53 1 Carbon brush AB with wire strand DIA52W-316 1
Gear wheel DIA52W-54 1 Carbon brush DIA52W-317 1
Ball bearing DIA52W-56 1 Electronics ass'y DIA52W-318 1
Needle bush DIA52W-57 1 Protective ground wire connector DIA52W-319 1
Needle bush DIA52W-58 1 Switch DIA52W-320 1
1/2 08 /2018



Spare part list
DIA 52 W diamond core drill

DUSS

Description Order-No. Quantity Description Order-No. Quantity
Damper cylinder housing DIA52W-321 1 Side handle DIA52W-327 1
Switch handle DIA52W-322 1 O-ring seal 8x3 DIA52W-328 1
Fitting for the diodes DIA52W-323 1 Capacitor DIA52W-329 1
Nut M12 DIA52W-324 1
Cheese head screw M5x25 DIA52W-325 4
Spacer DIA52W-326 4

2/2 08 /2018



DUSS N I

DIA 52 W

07/2018



